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OMBXI2AMHIA BRI E2X 2AM2
7,000 x3H+7U 128 1,764
02 222%H| 13,184 12,834 350
OMETI2MHIA RH2H L 2EZDH S
600,000 x 14! 600
OIIZS(Bos) dLHMEA(EE)
15,7302 *800S = 12,584
202 OfH] 4,320 4,320 0
01 2o 4,320 4,320 0
OMETIAMHIA SEHE ALFE ol
20,0002 *3H «6 2 » 122 4,320
206 24l 101,200 100,500 700
01 M24l 101,200 100,500 700
OJNZE(Bets) &2 XA 2 101,200
—&XEED) 60,0002 *300H 18,000
— AT AT 34,000 *200H 6,800
—LESYT 11,000 *3007H 3,300
—LESoHED| 18, 0002 *300H 5,400
—Hedo 27,0002 x500H 13,500
— DI EetA D) 39,000 *400H 15,600
— =AM XD 10,000 *200H 2,000
—SJI7 2 2 100, 0002 *200 K 20,000
—OtX )| B 2st 33,0002 x200H 6,600
—JIet BN (L 95)
10,0002 *10Z 1004 10,000
401 Al&HI LS 71,135 68,108 3,027
01 Al&H] 70,500 67,500 3,000
OINRE(BE) RANEL(E4,7005=2 15%)
100,000 7055 == 70,500
03 Al&=2CHHI 635 608 27




A ME2el
HE: MEXAMHIAASISX/HSAHSKR)

tel: S (2as)2el

5 o SIEN
SA-EFH - SA(SAH) - MREAY - BES Aol Ol AF o8 BlusZ
OJNZS(22S) RNUES AL
70,500, 0002 %0.90/ 100 635
L& iR (2oHE DA ¥ M 72,778 274,218 A201,440
401 Al HI LSO 72,778 274,218 A201,440
01 A& 72,000 272,000 200,000
OS% JHES ¥ 2oS MM
800,000 505 40,000
O%d 01d HX| =% =otS WH (924 O F
S BOIS 14225 2| 7%)800,0008 *40S = 32,000
03 Al& S0 778 2,218 A 1,440
OS%® JIES ¥ BoS A& ALY
40,000,000 *1.08/100 432
O%d 01X HX L% 2oS BH AlLL0
32,000,0002! *1.08/100 346
AUE SAES 17,120 17,120 0
AAUEB £ FIIANL 22MHIA 3,120 3,120 0
206 TH2HI 3,120 3,120 0
01 MEH 3,120 3,120 0
OLAHE =SHIAL 2218 KM P
30,0002 =8l CH 1374 S & 3,120
oHUR NNAZAES Oisas EBANESS 14,000 14,000 0
206 TH2HI 3,000 3,000 0
01 MEH 3,000 3,000 0
O10KZAE A3 I2=35 SAES +2/8
NSRSl 150, 0008 *55 x43] 3,000
301 LetEaa 6,000 6,000 0
10 BAFAHIZ &S 6,000 6,000 0
O10KEZAE A3 DI2=5] SAIZS IR
24 25,0002 *40% %63 6,000
307 BI2t0IA 5,000 5,000 0
02 QI2tHAE R 5,000 5,000 0
O10XAZAIE 8 MAX| 28t
100,000 ¥3024 * 13 3,000
O10XAZAEAS HR2L M= g
50,0008 40 2,000
SE(HU2ID) (ZZEMLOT /T - 22) 200,000 120,000 80,000
VESIENE 200,000 120,000 80,000
Werze D 2®E2 200,000 120,000 80,000
702 JI2XES 200,000 120,000 80,000
01 JIZNES 200,000 120,000 80,000
OmMLr2eld2 200,000, 0002 200,000




